Service a la clientéle: 1 800 463-1611
Customer service: 1 855 459-1954

ROUILLARD GUIDE D'INSTALLATION

INSTALLATION GUIDE

TABLE AVEC PIETEMENT “O"/ TABLE WITH "O" LEGS
29" Haut / High (29G-29H)




Pieces & quincailleries - Parts & hardware Instructions

ETAPE 1: FIXEZ LES PATTES A LA STRUCTURE AVEC LES VIS 1/4-20 X 5/8" TETE RONDE.

STEP 1: SCREW THE LEGS TO THE STRUCTURE WITH 1/4-20 X 5/8" ROUND HEAD SCREW.

QUINCAILLERIE HARDWARE
8 X VIS 1/4-20 X 5/8" TETE RONDE 8 X SCREW 1/4-20 X 5/8" ROUND HEAD




